

Dělení s ocáskem

$$\begin{array}{r} \underline{1205} : 5 = 241 \\ \underline{20} \\ 05 \\ 0 \end{array} \quad \text{zk: } \begin{array}{r} 241 \\ \cdot 5 \\ \hline 1205 \end{array}$$

$$\begin{array}{r} \underline{35672} : 2 = 17836 \\ \underline{15} \\ 16 \\ \underline{07} \\ 120 \end{array}$$

zbytek musí být menší než dělitel

$$\begin{array}{r} 557 \\ \hline 15 \end{array} \quad \begin{array}{r} 831 \\ \hline 37 \end{array} : 4 = 139457 \cdot (3)$$

15

37

18

23

31

3

$$\begin{array}{r} \text{ZK: } 139457 \\ \cdot 4 \\ \hline 557828 \\ + 3 \\ \hline 557831 \end{array}$$

$$\begin{array}{r} 251 \\ \hline 11 \end{array} \quad \begin{array}{r} 321 \\ \hline 11 \end{array} : 6 = 41886 \text{ (zr. 5)}$$

11

53

52

41

5

dělím 6 \Rightarrow zbytek musí být menší než 6

123 456; 9 = 13717 (3)

33

64

15

66

3

$$85 \quad 627:3 = 28542(1)$$

25

16

12

07

1